Department of Public Works and Highways : 23KK0101 : Construction of Bridge, Brgy. Mandangoa, Balingasag, Misamis Oriental (Phase 2) : Balingasag, Misamis Oriental

# **CONTRACT AGREEMENT**

# **KNOW ALL MEN BY THESE PRESENTS:**

This CONTRACT AGREEMENT, made this 4th day of April, 2023, by and between:

Subject to the provisions of Executive Order No. 91, s. 2019.

ACCOUNTANT III MANUEL S. Witness

The **GOVERNMENT OF THE REPUBLIC OF THE PHILIPPINES** through the **Department of Public Works and Highways (DPWH)** represented herein by <u>MARIVEL FRANCES L. ONG, A.E.R.,</u> duly authorized for this purpose, with main office address at <u>(Department of Public Works and Highways)-Misamis Oriental First District Engineering Office, Purok 5 Brgy. 26, Gingoog City, hereinafter referred to as the "**PROCURING ENTITY**";</u>

-and-

**EQUI-PARCO CONSTRUCTION COMPANY**, a single proprietorship/partnership/ corporation/joint venture organized and existing under and by virtue of laws of the Republic of the Philippines, with main office address at P-3 Ambangan, Ambago, Butuan City, Agusan del Norte, represented herein by **PEDRO L. ABECIA JR.** duly authorized for this purpose, hereinafter referred to as the **"CONTRACTOR;"** 

### WITNESSETH:

Republic of the Philippines Department of Public Works and Highways By:



ITEM NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TOTAL COST	
PART A	FACILITIES FOR THE ENGINEER					
A.1.1(8)	PROVISION OF FIELD OFFICE FOR THE ENGINEER (RENTAL BASIS)	9.10	MOS.	19,698.46	179,255.99	
PART B	OTHER GENERAL REQUIREMENTS					
B.5 🦯	PROJECT BILLBOARD/SIGNBOARD	2.00	EA,	6,518.40	13,036.80	
B.7(1)	OCCUPATIONAL SAFETY AND HEALTH	9.10	MOS.	47,773.88	434,742.31	
B.8(1)	TRAFFIC MANAGEMENT	9.10	MOS.	13,132.31	119,504.02	
B.9	MOBILIZATION/DEMOBILIZATION	1.00	L.S.	32,606.29	32,606.29	
PART C	EARTHWORKS				<i>•</i>	
B.18(1)	CRANEWAY	1.00	L.S.	776000	776,000.00	
101(6)	REMOVAL OF STRUCTURES AND OBSTRUCTION, CONCRETE	50.00	CU-M	1637.17	81,858.50	
103(2)b	BRIDGE EXCAVATION (SOFT ROCK) 🥒	516.85	CU.M.	48.5	25,067.23	
103(5)b	SHORING, CRIBBING AND RELATED WORKS (CRIBBING/COFFERDAMMING)	1.00	L.S.	776000	776,000.00	
104(2)a	EMBANKMENT FROM BORROW ,COMMON	374.15	CU.M.	1567.28	586,397.81	
200(1)	AGGREGATE SUBBASE COURSE	59.86	CU.M.	97.4	5,830.36	
PART D	BRIDGE CONSTRUCTION					
311(2)f1	PCC PAVEMENT (REINFORCED)-0.30 M THK.,14 DAYS	79.20	SQ.M	291.00	23,047.20	
400(3)d	STEEL H-PILES, FURNISHED, 361MM X 378MM, W=174.2KG/M	1,728.00	Μ.	16,260.27	28,097,746.56	
400(10)	STEEL H-PILES, DRIVEN	1,713.60	₫.	2,621.12	4,491,551,23	
401 <u>(2</u> )a	CONCRETE RAILING (STANDARD)	240.00	-M.	6,820.68	1,636,963.20	
404(1)a	REINFORCING STEEL BARS, GRADE 40	9,431,57	KG.	121.25	1,143,577.86	





PEDRO L. ABECIA JR. General Manager EQUI-PARCO CONSTRUCTION COMPANY

DONFI L MARK F. BARANDA Engineer II **OIC-Chief, Construction Section** Witness

Contract ID

**Contract Name** 

Order No. 91, s. 2019.

# Location of the Contract

Subject to the provisions of Executive

------

Department of Public Works and Highways

: 23KK0101

: Construction of Bridge, Brgy. Mandangoa, Balingasag, Misamis Oriental (Phase 2)

# : Balingasag, Misamis Oriental

-	TOTAL AMOUNT			71,283,249.62	
517(1)a	DRAIN PIPE, GALVANIZED	32.00	L,M	4,147.00	132,704.00
PART E	MISCELLANEOUS STRUCTURES				
412(1)	ELASTOMERIC BEARING PADS	16.00	EA	23,670.10	378,721.60
407(8)	LEAN CONCRETE, CLASS B (16.5 MPA.)	4.62	CU.M.	6,953.74	32,126.28
406(1)h8	PRESTRESSED STRUCTURAL CONCRETE MEMBERS (L=40M, TYPE VI, I-GIRDERS)	5.00	EA.	3,104,000.11	15,520,000.55
405(1)b3	STRUCTURAL CONCRETE, 27.58 MPA, CLASS "A", 28DAYS	444.20	CU.M.	12,514.66	5,559,011.97
404(1)b	REINFORCING STEEL BARS, GRADE 60	89,115.78	KG.	126.10	11,237,499.86

**NOW, THEREFORE,** for and consideration of the foregoing premises, the parties hereto agree as follows:

- 1. In this **CONTRACT AGREEMENT**, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- The following documents shall be attached, deemed to form, and be read and construed as part of this CONTRACT AGREEMENT, and shall be interpreted in the following order of priority:
  - a. This Contract Agreement
  - b. Documents forming part of the Contract Agreement:
    - (1) Notice of Award (NOA) with the Contractor's signed "conforme"
    - (2) **CONTRACTOR's** Bid in the Form of Bid, including its Technical and Financial Components, as calculated by the Procuring Entity and conformed to by the **CONTRACTOR** through the NOA.
    - (3) Instructions to Bidders (ITB) and Bid Data Sheet (BDS)
    - (4) Supplemental/Bid Bulletins for Bidding Documents
    - (5) Special Conditions of Contract (SCC)
    - (6) General Conditions of Contract (GCC)
    - (7) Specifications
    - (8) Drawings
    - (9) Performance Security
    - (10) Other Documents
      - (a) Construction Methods
      - (b) Construction Schedule in the form of PERT/CPM Diagram or Precedence Diagram and Bar Chart with S-Curve, or other approved tools of project scheduling, and Cash Flow.
      - (c) Manpower Schedule
      - (d) Equipment Utilization Schedule
      - (e) Construction Safety and Health Program initially approved by

the Head of the Procuring Entity

(f) CONTRACTOR's All Risk Insurance (CARI)



Republic of the Philippines Department of Public Works and Highways By:





General Manager EQUI-PARCO CONSTRUCTION COMPANY



**OIC-Chief, Construction Section** 

Witness

DPWH-INFR-51-2016

	Department of Public Works and Highways
Contract ID	: 23KK0101
Contract Name	: Construction of Bridge, Brgy. Mandangoa, Balingasag, Misamis Oriental (Phase 2)
Location of the Contract	: Balingasag, Misamis Oriental

- 3. In consideration of the payments to be made by the **PROCURING ENTITY** to the **CONTRACTOR** as hereinafter mentioned, the **CONTRACTOR** hereby covenants with the **PROCURING ENTITY** to execute and complete the **Works** and remedy any defects therein in conformity with the provisions of this **CONTRACT AGREEMENT** in all respects.
- 4. In consideration of the execution and completion of the Works by the CONTRACTOR, the PROCURING ENTITY hereby covenants to pay the CONTRACTOR the unit prices in the CONTRACTOR'S Calculated Bid, as applied to the actual quantities accomplished as certified by the PROCURING ENTITY under the provisions of this CONTRACT AGREEMENT, at the times and in manner prescibed by this CONTRACT AGREEMENT.

IN WITNESS WHEREOF, the parties hereto set their respective hands on the day of

**PROCURING ENTITY:** 

Represented by: MARIVEL F ONG, A.E.R District Engineer

Witnessed by:

MANUEL S. ESLAO, JR. CPA Accountant III Chief, Finance Section

# **CONTRACTOR:**

Represented by: PEDRO L. ABECIA JR General Manager

DONELL 1AR F. BARANDA Engineer II **OIC-Chief**, Construction Section

DPWH-INFR-51-2016

### Contract ID

### **Contract Name**

Location of the Contract

- Department of Public Works and Highways
- : 23KK0101
- : Construction of Bridge, Brgy. Mandangoa, Balingasag, Misamis Oriental (Phase 2)

n of the Contract : Balingasag, Misamis Oriental

Subject to the provisions of Executive Order No. 91, s. 2019.

**REPUBLIC OF THE PHILIPPINES** 



Republic of the Philippines Department of Public Works and Highways By:

MARIVEL FR L. ONG A.E.R. **ICES** District Engineer

#### ACKNOWLEDGEMENT

This instrument consists of Four (4) pages, including this page on which this acknowledgement is written duly signed by the contracting parties and their witnesses on the left margin of the other pages.

IN WITNESS WHEREOF, I have hereunto affixed my Signature and Official Seal this \_\_\_\_\_day of 4

PEDRO L. ABECIA JR. General Manager EQUI-PARCO CONSTRUCTION COMPANY

DONELL MARK F. BARANDA Engineer II OIC-Chief, Construction Section Witness

387 Doc. No.

10 Page No.

Book No.

Series of 2023

Notary Public

REYCARTE M. NAMBATAC ATT Notary Public (NC-56-22) for Gingoog City

Notary Fublic (NC-56-22) for Gingoog City and Magsaysay until Dec. 31, 2023 Roll of Attorneys no. 70753 MCLE Compliance no. VII-0013858/4-14-25 IBP O.R. no. 256178/12-30-22 PTR No. 2797329, 1-3-23, Gingoog City F. Dugenio st., SAA Estate Subd.,Gingoog City